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Algebra 1 Final Review

A L. Find 3x+2)@x% - 2x-7). 1Zx" — (xt—-2ix +Rx*-dx ~14

sl

——— ARpA S wea

//1\_1}:3 +2x2 - 25x - 14 B 12x3 + 14x% +25x + 14 /2749::2 ~25x - 14
i SRt
)ﬂx3+7x2—4x—5 /Mf3+2x2—25x—14

2. Factor 7x2 — 16x + 4. (7)( -1 XX -7 )

AG-)(Tx+5) B(x+2)(Tx—4d) C—)(Tx+1) @—2)(7::—2) E (x +3)(7x - 5)
3.Solvex(s+3)-2=2 41+ . A Bx-T = 24/’+x 2x=4

A2 B-2 cl Do E-1

\ i} .
4. Which binomial is a factor of 80y% — 120y +45? 5 (jC\/ - 2"*\,“‘ c'> 5(‘1\/ ‘3)
@Jy—S B8y-9 Cl6y-9 D8y-15 E8y+9

5. Simplify 2a2(5a — 6) - 5a (a? - 3a + 4) — 7(a - 5).
/0(, "lzdt—ﬁ;*fs.ct "204, ~Tq + ?s'

—_— wh
(Aba®+3a%-2Ta+35 ~ ¥ B 503 — 2742 + 13a - 35 C5a®-10a-7
D 5a® —3a®* + 12a + 35 E None of these

5‘;3 e 3(:.1 —174 +3 g'
6. Factor 24x%y — 66xy? + 54x2y? completely. ¢ xy ("f s 1 '\{ +4 Xy)
A 2x0(12x - 33y + 27xy) B (4% + 6y)(6x — 9y?) C 6x2y2 (4y — 11x +9)

D 6x%y%(4x — 11x - 9y) @6@(4::— 11y + 9xy)

7.Solve 0= (3w +4)2w-7) ~ % omnsk Z

s34 B3 cft) o3 ()t
8. Factor x2 — 10x + 9. (x—ﬁ")&—t)

Alx-DE-9) Bl 1x+9) Clr+1)x+9) D (x+ 1)(x-9) E (x — 10)(x + 1)
9. Find (4a? + b)2.(Us? <1 ) 1Ga” +Ya*ly + 4z < ),"

A 16a* + b? B 8a* + b? (C)6a* +8a?b+ b2

D 4a* + 8a%b + b? E 8a* + 8a® + b*



¢

C

%

D

10. Factor 12172 - 64t2, (Hr L) (Hr N 5{\

(A__}llr+ 8H(11r-80 B(llr+8:(11r+82) C(llr-80(11r-8s)
D (121r + 8t)(r — 8b) E prime/non factorable

11. The length of a rectangle is twice the width. The area is 72 square centimeters. What is the length?

l=Zw =L
A48 cm B 24 cm @ D6 cm E18cm

- 12 :(lu)u
12.Solve v2 =13v—-42. y*~13.+42=0 .z W=
(o- 1Yo E e
A {-6,-7) /B (6,7} C {-6,7) D {6, -7) E (—10, -3}

13. Consider the equation y = x2 + 5x — 6. Determine whether the function has a maximum or@n value. State the
maximum of minimurmn value. What are the domain and range of the function?

A min; (0,0) B m&.; (0, 0) x=-% (Cnin ; (-2.5,-12.25)
D: {all real numbers} {al real numbers} A D: {all real numbers}
R: {all real numbers) :{v|y<0} 7-0) R: {y|y=-12.25}

D max$(2.5,412.25) E min.; (-6, 1)

Dix|x= D: {all real numbers}

R: {all rgf] nunibers} R:{y|ly=1}

14. Which equation corresponds to the graph shown?

Ay=x2+7x-12 %\=x2+5x+12 @=x2—x—12 ' . _

g i
D}Z*?ﬂzx—l Ey=2(r-17-12 Y"O‘“"\(”q’) e
= Wil —1 2

15. Find the equation of the axis of symmetry and the coordinates of the vertex of the graph of y = 2x2 — 12x + 6.

Ax :%'LS:?* 60) (B3=30,-12) C .Q-x (-3, 78) x=1t .3

q
Dx=3;(3,6) E x=3; (3, 6) 16-36 *=
.-I T
16. What are the zeros of the quadratic equation whose related function is graphed at the right? —|—-——— L ] +f-; %
| {. .
A2 B3 {6\9,4 D—4,0 E2,3 B hL
17. Describe how is the function g(x) = (x -+ 3)(x — 1) is related to the function f{x) = x2? I ‘jt -
XL*Z.)("‘B of Cx-l'\)t-"l
A translated left 3 units & down1 B translated left 1 C translated right 1
;/ [?)ranslated left | & down 4 E translated right 1 & up 4

3
18. How is the parent function f{x) = x? translated to create the graph of g(x) = (x — 3)? +2? e oz

A down 2 units /B ight 3 units & up 2 units C left 3 units & up 2 units

D up 2 units E left 3 units & down 2 units



? 19, What is the vertex form ofn? — 120 -10=07 (11 —1Zn*3¢ )" 36710 70

©

AO=(n+6)+26 /B0 =(n-6)-46 CO=(n—12)'+134
DO=(n-5)n+2) E0=(n-6)"+26

JZO. Which equation is equivalent to 2x% — 24x — 14 =0? 2_( Al K2 '7) -
A(x- 6)%2=50 B(x-3)2=13 C (x- 3)2=20

-6)2 = -6)=
@x 6) 43 @(x 6) 43 L_'lk*gcz—i‘r‘BQ

X
For Questions 21-23, simplify each expression.
(x>
D 21. 53 - 2v21 0-337
A 70V3 B 10V63 C49v3 ['/1?30\/7
= S
E 22, J; TL 3 6
x? x3 x x
As (B 5 D75
N 23.2.fy -5y - 2/y. 2615 204y
AWy B 20,fy C 20y%\fy D 20y3

For Questions 24-25, solve the equation by using the Quadratic Formula.

-ll;t{lzl-ﬁl(«f—'i) ‘Il;‘:m “1+13
g 2 g

¢ 1 ' 1
A -l B—;,3 Cnxsﬂ (];)3,;

25.y*+2y+3=0 -4 gz 5l

P 24, 4x%* + 11x-3=0

A-l,-2 B-3,-1 cl,2 D31
A 26. Determine the number of real solutions of 7x% - 18x+12=10. 324 -4 ( ﬂ(—ls)

A B infinitely many C none DI

H

43

E W24

)

E 20,/y?

E no solutions

(: E nd solutions

E12

27. Look for a pattern in the table of values to determine which model best describes the data.

% % 0 ] 2 | 3
i 7 | 49 | 343

Y

g
A linear (B /t'xponential C quadratic D rational

7 28. How does the translated graph of y = vx + 3 compare to the parent graph?
\
A translated up 3 B translated down 3 C transiated right 3

[ D translated left 3 E no change

M

E none of these



‘P 29. Which equation has a domain of {x|x>2} ?

Ay=yx+2 By=vx-2 Cy=vx ¥ 2 @=\/x—2 Ey=7%
G (o) ar (29 [
AZ 30. V18 - /54 + 24/50 317 - 3(C +1072
@13\/5—3\/3 B-4v3 + 45 C—4V3-45 D8vZ-3V6 E2V6
LIV WB-VIT) T -V238 «¥iF - V51 o 8 +3( 15
£ AR5 —21+3-410 B21-4v2 C+21
DVZ1++2 E 2421 - 238 4+ 3+/2 =51

6 32.SolveV3x —2+4=8.  2,.7=1(

A2 (B¥ c

S\

50

W
=]

i ]
=
|

33. What is the equation of the graph?

Ay=vEFi-1 (By=vr=1-1 T e V,_O)_Q
Cy=vrFi+i Dy=vi—i+1 ° -
Eym2x-l S NS T T R 0% A _j

P[ 34. Which rational function is graphed? I & e
(Af=22; o omegy e 0)
—4_i-p |o] [ 2x] C-
== =. !
DAx)=—= Ex=-2 N =12
]
L.—4
YY.!
l{} 35. Solve 22 =3 bx-6=1tx
&
-6 =bx
-1 -1 1
@-l B — C 5 DI EE
(D(,(#\) 7
5x 10 =Z ~ - +}
36.Solve3x+3——3(x+1) = 2({,\) ?_(IO) WK j
A 3('x-ﬂ>
! 27 67 7 17
A9 B_H C? I}; E—s-

g A\ B



37. What is the domain and the range for the following functions?

A. ﬂx)=x12-3 B. f(x)=Vx—-3+4

(- C’Z‘*g) V (3}(1)
Domain: X + -2 ° [ Domain: X 2 2
Range: N + -3 .)I-L_ Range: v > L{

C. fx)=(x+1)*+3

PREED
Domain:ﬁ—

Range: \]’ > 3

38. What value does n have on the graphed function to the right for (1, n)? L\ fx)

@ if







